C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem. Answers
1) 'Which choice represents the un-shaded 2) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel? 1.
2.
3.
4,
0.35 15 >
A.0.35 B. /100 A. /100 B. 1.50
85
3) Which choice represents the un-shaded 4) Which choice represents the shaded portion
portion of the number wheel? of the number wheel?
1 70 70
A. 7100 B.0.1 A. 7100 B. /3
C.1 D. 10 30 7.00
C. "/ D. 7100
5) Which choice represents the un-shaded 6) Which choice represents the shaded portion
portion of the number wheel? of the number wheel?
65 35 1.00 20
A /s B. 7100 A" 100 B. /10
35 10
C.0.035 D. /100 C.10 D. /100
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C:h |dentifying Fractions and Decimals on aNumber Wheel Name: Answer Key

Solve each problem. Answers
1) 'Which choice represents the un-shaded 2) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel? 1. A
2. A
s B
a A
0.35 15 ° B
A.0.35 B. /100 A. /100 B. 1.50
85
C.0.035 D. 3.50 % D.15 6. D
3) Which choice represents the un-shaded 4) Which choice represents the shaded portion
portion of the number wheel? of the number wheel?
1 70 70
A. 7100 B.0.1 A. 7100 B. /3
C.1 D. 10 30 7.00
C. "/ D. 7100
5) Which choice represents the un-shaded 6) Which choice represents the shaded portion
portion of the number wheel? of the number wheel?
65 3 1.00 20
A /s B. 7100 A" 100 B. /10
35 10
C.0.035 D. /100 C.10 D. /100
1-6 [83[67]50(33[17] 0 |
[ Math ] www.CommonCoreSheets.com 1




ﬂh | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

65 6.5

A. 7100 B. /100
35 6.50

C. /s D. 7100

3) Which choice represents the shaded portion
of the number whedl ?

C.300

B.0.3
D.3.0

5) Which choice represents the shaded portion
of the number whedl ?

A 00 B. 0.090

9
C. 90 D. /100

Answers
2) Which choice represents the shaded portion

of the number whedl ? 1.
2.
3.
4.
5.

A. 3.50 B. 0.035

35
C. /100 D.0.35 6.

4) Which choice represents the un-shaded

portion of the number wheel ?

A.0.50
C.5

05

D. 50

6) Which choice represents the shaded portion
of the number whedl ?

A.0.10

0.1

B.10

1.00
/,

D. 7100
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ﬂh |dentifying Fractions and Decimals on aNumber Wheel Name:  Answer Key

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

65 6.5
A. 7100 B. /100
35 6.50
C. /s D. 7100

3) Which choice represents the shaded portion
of the number whedl ?

C.300

B.0.3
D.3.0

5) Which choice represents the shaded portion
of the number whedl ?

A 00 B. 0.090

9
C. 90 D. /100

Answers
2) Which choice represents the shaded portion
of the number wheel? 1 L
. D
3. B
4 A
5. A
A. 3.50 B. 0.035
35
C. /100 D.0.35 . A
4) Which choice represents the un-shaded
portion of the number wheel ?
A.050 B. Y100
C.5 D. 50
6) Which choice represents the shaded portion

of the number whedl ?

A.0.10

0.1

B.10

1.00
/,

D. 7100
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C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the shaded portion
of the number whedl ?

25 0.25
A/ B. /100
25
C. 7100 D. 2.50

3) Which choice represents the un-shaded
portion of the number wheel ?

B.05

5
D. /g5

5
A. 7100

95
C. /s

5) Which choice represents the shaded portion
of the number whedl ?

A.3
C.30

B.0.30
30
D. /7

Answers
2) Which choice represents the shaded portion
of the number whedl ? 1.
2.
3.
4.
3 5.
A. 7100 B. 0.080
0.8 80 6.
C." /100 D. /100

4) Which choice represents the un-shaded
portion of the number wheel ?

0.6
A. 7100 B. 0.60

c. % D. 6.00

6) Which choice represents the shaded portion
of the number whedl ?

B. 45
D.45.0
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C:h |dentifying Fractions and Decimals on aNumber Wheel Name: Answer Key

Solve each problem. Answers
1) Which choice represents the shaded portion ~ 2) Which choice represents the shaded portion
of the number wheel? of the number wheel? 1. C
2D
3. A
s B
25 0.25 8 ° B
A/ B. /100 A. 7100 B.0.080
25 0.8 80 A
C. 7100 D. 2.50 C. 7100 D. /100 ®
3) Which choice represents the un-shaded 4) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A 400 B.05 A" B. 0.60
95 5 40
C. /s D. 795 C. /g D. 6.00
5) Which choice represents the shaded portion 6) Which choice represents the shaded portion
of the number wheel? of the number wheel?
A.3 B.0.30 55
0 /100 B. 45
C.30 D. 77 C.55 D. 45.0
1-6 [83[67]50(33[17] 0 |
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ﬂh | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

B.55

0.55
/. 100

55
A. 7100

C.5.50

3) Which choice represents the shaded portion

of the number whedl ?

B. 0.0010
D.1.00

0.1
A" /100
C.01

5) Which choice represents the shaded portion
of the number whedl ?

Answers
2) Which choice represents the un-shaded
portion of the number wheel ? 1
2.
3.
4,
5.
A s B. 0.85
85
C.85 D. /s 6.
4) Which choice represents the shaded portion
of the number wheel?
A.8.50 B. 0.015
C.0.15 D.15
6) Which choice represents the shaded portion

of the number whedl ?

4.5 0.45
A.60/1OO B. 6.00 A /100 B. /100
C. 0.0060 D. 60.0 45 45
C. 7100 D. /55
1-6 [83[67]50(33[17] 0 |
[ M ath ] www.CommonCoreSheets.com 4




ﬂh |dentifying Fractions and Decimals on aNumber Wheel Name:  Answer Key

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

A 100 B.5.5
0.55
C.5.50 /100
3) Which choice represents the shaded portion
of the number whedl ?
A7 B. 0.0010
C.01 D.1.00

5) Which choice represents the shaded portion
of the number whedl ?

Answers
2) Which choice represents the un-shaded
portion of the number wheel? 1 L
2. B
3 C
. C
. 5. A
A Vs B.0.85
85
C.85 D. /s 6. C
4) Which choice represents the shaded portion
of the number wheel?
A.8.50 B. 0.015
C.0.15 D.15
6) Which choice represents the shaded portion

of the number whedl ?

0 45 0.45
A Y100 B. 6.00 A V00 B. Y00
C. 0.0060 D. 60.0 45 45
C. 7100 D. /55
1-6 [83[67]50(33[17] 0 |
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C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem. Answers
1) Which choice represents the shaded portion 2) Which choice represents the un-shaded
of the number wheel? portion of the number wheel? 1.
2.
3.
4,
A.0.85 B.85 2 20 >
e "o A. 7, /-
C.85 D. 0.085 , ;OOO - 100 )
C." /100 D. 7 '
3) Which choice represents the un-shaded 4) Which choice represents the shaded portion
portion of the number wheel ? of the number wheel?
A.0.025 B.0.25 0.25 25
A. "7 B.”/
C. 0.0075 D. 2.50 100 100
C.0.025 D. 25

5) Which choice represents the shaded portion 6) Which choice represents the shaded portion

of the number wheel? of the number wheel?
4 60 2.50
A. 0/60 B. 70 A.0.0075 B. " /100
40 4 C. 0.025 D.0.25
C. /100 D. /100

1-6 |83]67]50]33]17] 0 ]
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C:h |dentifying Fractions and Decimals on aNumber Wheel Name: Answer Key

Solve each problem. Answers
1) Which choice represents the shaded portion 2) Which choice represents the un-shaded
of the number wheel? portion of the number wheel? 1. A
2. B
s B
a B
2 20 > C
A.0.85 B.85 A /100 B. /100
C.85 D. 0.085 200 &0 ] D
C." /100 D. 7 '
3) Which choice represents the un-shaded 4) Which choice represents the shaded portion
portion of the number wheel ? of the number wheel?
A.0.025 B.0.25 0.25 25
A. "7 B.”/
C. 0.0075 D. 2.50 100 100
C. 0.025 D. 25

5) Which choice represents the shaded portion 6) Which choice represents the shaded portion

of the number wheel? of the number wheel?
4 60 2.50
A. 0/60 B. 70 A.0.0075 B. " /100
40 4 C. 0.025 D.0.25
C. /100 D. /100

1-6 |83]67]50]33]17] 0 ]
[ Math ] www.CommonCoreSheets.com 5




ﬂh | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the shaded portion
of the number whedl ?

45 S

A. 7100 B. /s
45 4.5

C. /ss D. 7100

3) Which choice represents the shaded portion
of the number whedl ?

A. 90

90

B. 0.090
9

5) Which choice represents the un-shaded
portion of the number wheel ?

AV B. 0.80

8
/loo D.8

C.

Answers
2) Which choice represents the shaded portion
of the number wheel? 1
2.
3.
4,
0.75 >
A /100 B.0.75
7.50 75 6.
/100 D. /100
4) Which choice represents the un-shaded
portion of the number wheel ?
A.55 B. 55
5.5 55
C. " 7100 D. 7100
6) Which choice represents the un-shaded

portion of the number wheel ?

A. 80

08 80
C. " 7100 D. /100

[ Math ] www.CommonCoreSheets.com
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ﬂh |dentifying Fractions and Decimals on aNumber Wheel Name:  Answer Key

Solve each problem.

1) Which choice represents the shaded portion
of the number whedl ?

45 S

A. 7100 B. /s
45 4.5

C. /ss D. 7100

3) Which choice represents the shaded portion
of the number whedl ?

A. 90

90

B. 0.090
9

5) Which choice represents the un-shaded
portion of the number wheel ?

AV B. 0.80

8
/loo D.8

C.

Answers
2) Which choice represents the shaded portion
of the number wheel? 1 A
2. B
3. C
4 D
0.75 > B
A" 100 B.0.75
7.50 75 6. D
/100 D. /100
4) Which choice represents the un-shaded
portion of the number wheel ?
A.55 B. 55
55 55
6) Which choice represents the un-shaded

portion of the number wheel ?

A. 80

08 80
C. " 7100 D. /100

[ Math ] www.CommonCoreSheets.com
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C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the shaded portion
of the number whedl ?

B.0.20

0.2
D. 7100

80
A. 7

20
C. 710

3) Which choice represents the un-shaded
portion of the number wheel ?

A.250
C.25

25
B. /10

D.25

5) Which choice represents the shaded portion
of the number whedl ?

Answers
2) Which choice represents the shaded portion
of the number whedl ? 1.
2.
3.
4.
0.05 5
A" 7o B. 0.05
5 9.5 6.
C. 795 D. /100

4) Which choice represents the shaded portion
of the number wheel?

80 8.00
A7y B.~ /100
80
C. /100 D. 8.00

6) Which choice represents the un-shaded
portion of the number wheel ?

A.55.0 B. 45 15 15
A. "7, B. 7/,
C.45 D. 0.45 100 100
C.150 D.15
1-6 [83[67]50(33[17] 0 |
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C:h |dentifying Fractions and Decimals on aNumber Wheel Name: Answer Key

Solve each problem. Answers
1) Which choice represents the shaded portion ~ 2) Which choice represents the shaded portion
of the number wheel? of the number wheel? 1 B
2. B
s B
s C
80 0.05 s. D
A. /20 B.0.20 A /100 B. 0.05
20 0.2 5 95 6. DB
3) Which choice represents the un-shaded 4) Which choice represents the shaded portion
portion of the number wheel ? of the number wheel?
2 80 8.00
A.2.50 B. Y100 A. "0 B.> /100
80
5) Which choice represents the shaded portion 6) Which choice represents the un-shaded
of the number wheel? portion of the number wheel?
A.55.0 B. 45 15 15
A7/ B. /.
C.45 D. 0.45 100 100
C.150 D.15
1-6 [83[67]50(33[17] 0 |
[ Math ] www.CommonCoreSheets.com 7




C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem. Answers
1) Which choice represents the shaded portion 2) Which choice represents the un-shaded
of the number wheel? portion of the number wheel? 1.
2.
3.
4.
1.50 15 6.00 >
15
3) Which choice represents the un-shaded 4) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A.15 B.0.15 A.15 B.0.15
15 0.15 0.85 8.5
5) Which choice represents the un-shaded 6) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A.0.030 B. 30 A 4-5/100 B. 0.45
c.>% p.%.
- 7100 - 7100 C. 45 D. 4-50/100

1-6 |83]67]50]33]17] 0 ]
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C:h |dentifying Fractions and Decimals on aNumber Wheel Name: Answer Key

Solve each problem. Answers
1) Which choice represents the shaded portion 2) Which choice represents the un-shaded
of the number wheel? portion of the number wheel? 1. B
2 B
s B
s B
1.50 15 6.00 > L
15 B
3) Which choice represents the un-shaded 4) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A.15 B.0.15 A.15 B.0.15
15 0.15 0.85 8.5
5) Which choice represents the un-shaded 6) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A.0.030 B. 30 A 4-5/100 B. 0.45
c.>% p.%.
- 7100 - 7100 C. 45 D. 4-50/100

1-6 |83]67]50]33]17] 0 ]
[ Math ] www.CommonCoreSheets.com 8




C:h | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

B.0.8

80
D. /5

0.8

C.8

3) Which choice represents the un-shaded
portion of the number wheel ?

A.5.00 B 5/100

5
C. 7100 D.05

5) Which choice represents the un-shaded
portion of the number wheel ?

A. 4.00 B. 0.40
40 4.00

Answers
2) Which choice represents the un-shaded
portion of the number wheel ? 1
2.
3.
4.
5.
A.0.30 B. 70
70
C. 0.070 D. /30 6.

4) Which choice represents the shaded portion
of the number wheel?

A.0.10
1
C. 7100

B.1

0.9

6) Which choice represents the shaded portion
of the number whedl ?

B. 0.075

o »
ol
L,\,,1\

~l
N

100 D.7.50
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ﬂh |dentifying Fractions and Decimals on aNumber Wheel Name:  Answer Key

Solve each problem.

1) Which choice represents the un-shaded
portion of the number wheel ?

B.0.8

80
D. /5

0.8

C.8

3) Which choice represents the un-shaded
portion of the number wheel ?

A.5.00 B 5/100

5
C. 7100 D.05

5) Which choice represents the un-shaded
portion of the number wheel ?

Answers
2) Which choice represents the un-shaded
portion of the number wheel ? 1 B
2. A
3 D
4 A
5 B
A.0.30 B. 70
70
C. 0.070 D. /30 6. C

4) Which choice represents the shaded portion

of the number whedl ?

A.0.10
1
C. 7100

B.1

0.9

6) Which choice represents the shaded portion

of the number whedl ?

A 3600 B. 2‘3‘8 A. 75/25 B. 0.075
C. /g0 D. /10 75
C. 7100 D. 7.50
1-6 [83[67]50(33[17] 0 |
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ﬂh | dentifying Fractions and Decimals on a Number Wheel Name:

Solve each problem. Answers
1) 'Which choice represents the un-shaded 2) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel? 1.
2.
3.
4.
85 85 A.09 B. 90 >
A. 7100 B. /100 ' 1/ '
/100 D. /15
3) Which choice represents the un-shaded 4) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A. 20 B 20/80 A. 0.0060 B. 266
C.60
C.0.2 D."Y40 D. 760
5) Which choice represents the un-shaded 6) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
6 40 70 70
0.4 30
C. /100 D. 40 C.7 D. /%
1-6 |83[67]50[33[17] 0 |
[ Math ] www.CommonCoreSheets.com 10




ﬂh |dentifying Fractions and Decimals on aNumber Wheel Name:  Answer Key

Solve each problem. Answers
1) 'Which choice represents the un-shaded 2) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel? 1 A
2. A
s C
s, B
85 85 A.0.9 B. 90 s B
A. 7100 B. /100 1/ '
0.85 85 C. 7100 D.9 6. A
/100 D. /15
3) Which choice represents the un-shaded 4) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
A. 20 B 20/80 A. 0.0060 B. 266
C.60
C.0.2 D."Y40 D. 760
5) Which choice represents the un-shaded 6) Which choice represents the un-shaded
portion of the number wheel? portion of the number wheel?
6 40 70 70
0.4 30
C. /100 D. 40 C.7 D. /%
1-6 |83[67]50[33[17] 0 |
[ Math ] www.CommonCoreSheets.com 10
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